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Dr. Oneill,

I might be able to shed some light on some airbus points, my dad has a type rating in the A320 so
I'm pretty familiar with it.

The side stick doesn't have any force feedback or even a linear stick force to G relationship. Its
kind of just a friction gradient. going from 0 to 1/4 aft stick is the same force as going from 3/4
to full aft stick. But it is a full displacement stick as opposed to the F-16. I've flown the sim for
the Viper and its got 5 degrees or so of play in each axis, but very different from the airbus in the
the amount of force. its a a hefty pull to get max g out of the jet where the airbus is just a light
pull against the stop to have the jet give you either maximum aerodynamic g or structural g.

Also on that Air France crash, The A320 has a couple different flight control laws it can follow.
There is normal, alternate, and direct law flight mode. Normally when flying the airplane it's in
normal law, which has g, roll, pitch, and stall protection. When the airplane is getting close to
stall it goes into ALPHAFLOOR mode which limits aft stick to prevent stall and advances power
to maximum automatically. The pilots relied on that alphafloor system as they slowed the jet
down for the low pass, Unfortunately when below as certain RADALT altitude the control laws
revert to alternate law which does not have alphafloor protection and the jet can be stalled which
put them in the left of the power curve situation they found themselves in.

https://www.youtube.com/watch?v=IKBABNL-DDM

~04:15 - A good video of the envelope control system on the airbus
Just some insight that may be interesting to students in class.

<NAME>
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